
Answer on Question #42245-Math-Calculus 

Describe how to transform the graph of f into the graph of g. 

𝑓(𝑥)  =  𝑥4 and 𝑔(𝑥)  =  −𝑥4. 

Reflect the graph of f across the x-axis. 

Shift the graph of f down 1 unit. 

Reflect the graph of f across the x-axis and then reflect across the y-axis. 

Reflect the graph of f across the y-axis. 

Solution 

We have the graph of 𝑓(𝑥) 𝑦 = 𝑥4. Thus 𝑔(𝑥) =  −𝑥4 = −𝑦. To transform the graph of 𝑓(𝑥) into the 

graph of 𝑔(𝑥) we should reflect the graph of 𝑓(𝑥)  across the x-axis. 

Answer: Reflect the graph of f across the x-axis. 
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